S022: Ohm’s Law 

Answers: 1. D, 2. B, 3. D
1) A current of 2 A passes through two resistors placed in series. The first resistor has a resistance of 
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and the second resistor has a resistance of
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. What is the total potential difference across the two resistors? 

	A.
	13 V
	
	B.
	15 V

	C.
	30 V
	
	D.
	60 V


Source: MCAS: 2009, Science and Technology/Engineering – High School
http://www.doe.mass.edu/mcas/testitems.html
2) A microwave oven uses 10 A of current when connected to a wall outlet that provides 120 V of electricity. What is the resistance of the microwave oven?

	A.
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	B.
	
[image: image4.wmf]W

12



	C.
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	D.
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Source: MCAS: 2010, Science and Technology/Engineering – High School
http://www.doe.mass.edu/mcas/testitems.html
3) Based on Ohm’s law, which of the following statements explains what must happen when the voltage across a resistor is decreased?

	A.
	The resistance of the resistor increases.
	
	B.
	The resistance of the resistor decreases.

	C.
	The current through the resistor increases.
	
	D.
	The current through the resistor decreases.


Source: MCAS: 2009, Science and Technology/Engineering – High School
http://www.doe.mass.edu/mcas/testitems.html
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